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(3)
PART -1

(W 1)

MENTAL ABILITY TEST

difse Araar e

Questions : 1 to 50

Select the right allernative which will

Direction : (Q. No. 1 to 7)

complete the series.

1.

4.

-np -l-prl-pr-n-
(1)
(2)
@) plpprn
4 plplnr

Inlnlr

Irnn [p

X - YYZ - X2y - ZX - ZY - 2X -
(1)
(2)
3
(4)

ZXYXYX

ZYXVXZ

YXZXyy

YZYXXX

QKF, 2, KGD, HEC
() LHE

@ NHF

8) MHG

4) NTE

EVFUHSIR, KPLO,?
() MNNM
@ LOMN
(3) NMOL

4 NSOR
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(1) zxyxyx

(2) zyxyxz

(3) yxzxyy

(4) yzyxxx
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(3 MHG
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(5 5.
\\
(1)
3
. 95 92627, 21,10 6. 95,72 52,7 21, 10
o5 i - ) . 5
(2) 32 (2) 32
(3) 35 | | (3) 35
(4) 38 ) (4) 38
. 17,15, 32, 67, 138, 7 7. 17,15,32,67,138,7
(1) 257 : (1) 257
(2) 263 (2) 263
8y 279 . (3) 279
(4) 281 - (4) 281
. IfC=3and DOG = 26, then TIGER =? 8. IR C=3 &k DOG =26, MTIGER =7
(1) 43 | L (1) 43
(2) 48 (2) 48
(3) 87 3) 57
(4) 59 4) 59
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9. In a row Ravi is 8th from the right,

%

10.

11.

12,

Mohan's place is 7th from the left side
and Anil is sitting in between the twao,
Find the minimum number of boys
sitting in the row. '

(1) 12

2). 14
3) 15
(4) 16

From the given alternatives find the

word which cannot be formed by

using the letter of the given word :
EXPERIENCE

(1) EXPIRE

(2) RIPEN

3) EXPERT

(4) PRINCE

From the given alternatives find the

word which can be formed by using

the letters of the given word :
INTELLIGENCE

(1) CENTRE

(2) GENTLE

(3 CANCEL

4 LEGAL

Ifin a certain code language "HORSE!
Is written as 'JMTQG', how would
'POWER' be coded in the same code ?

() QPXFS
(2 NQUGQ
3 RMZDS
@) RMYCT

(Level-1) Exam. le.r. - 2015
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9. In a row Ravi is 8th from the right,

10.

LE.

12,

Mohan's place is 7th from the left side
and Anil is sitting in between the two.
Find the minimum number of boys
sitting in the row.

(1) 12

2 14
3 15
4) 16

From the given alternatives find the

word which cannot be formed by

using the letter of the given word :
EXPERIENCE

(1) EXPIRE

{2) RIPEN

(3) EXPERT

(4 PRINCE

From the given alternatives find the

word which can be formed by using

the letters of the given word :
INTELLIGENCE

() CENTRE

(2) GENTLE

38 CANCEL
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If in a certain code language "HORSE!

is written as 'JMTQG', how would -

'POWER' be coded'in the same code ?
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" 18,
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EXPERIENCE
(1) EXPIRE

(2) RIPEN

(3) EXPERT
(4 PRINCE
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A
Direction : (Q. No. 13 & 14)

These questions are based on the following
information : ‘

Sachin walks 12 km towards East and turns
to his right and walks 8 km. Then he again
took right turn and walks 6 km.

e

13. How far is Sachin from the staMing
point ?

(1) 6km

(2) 8km

(3) 10 km

(4) 12 km

14. In which direction is Sachin going at

the end ? _

(1) East (2) West

(3) North (4) South
Direction : (Q. No. 15 & 16)

These questions are based on the following
information :

Five girls are sitting in a circle facing to the
centre. Seema is sitting immediately to the left
of Veena. Anjali is sitting between Dipti and
Veena. Babita is sitt.iﬁg to the right of Dipti.

15. Who is sitting between Babita and
Anjali ?
(1) None
(2) Seema
(3) Veena
(4) Dipti
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A

Direction : {(Q. No. 19 & 20)

Study the trend of the numbers and find the

missing number from the given alternatives.

19.

- 20.

12 7 1
10 6 14
8 17 7|

1) 8 @) 4

(3) 5 (4) 6
3 4 36
4 6 06
6 ? 252

(1) 38

(2 5

©) 6

@ 7

21. Suresh and Kailash are brothers.

Rajani and Shubhra are sisters.
Suresh's son is Shubhra's brother.
How is Kailash related to Rajani ?

(1) Father
(2) Uncle
(3) Brother

(4) Nephew

(Level-1) Exam. Nov. - 2015

(8)
&% : (e do 19 wH 20)
qEe # Hg FH AT # Gt Ry T

'
T

fest & & g ae@r T wie !
18. 12 7 11
10 .| 6 14
8 17 ?
(1) 3 @ 4
3 5 (4) 6
20. 3 4 36
4 6 96
6 ” 252
1) 3
@) 5
(3 6
(4) 7
21, G ) Fanar W@ ¥ R AN gA
afed B QW @ @ gE H AR B
ST T O QR TTT & 7
(1) foar
(2) =
(3) R
(4) i
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(9)

22. In the figure given below which
number represents Honest and
Hardworking Youths ?

Honest
| Hard

working

7 (2) 6
® 5 @ 4

23. In the following equation, two signs
need to be interchanged to make it

correct. Choose these signs from the
given alternatives.

36+6x10+5-2=63
(1) +and -
(2) +and =+
(3) xand =
(4) —and x

24. If '+ means 'x', '~ means '+, 'x'

means -, and '+' means '+, then
16 +566—-4x2+2=7

(1) 14

(2) 22

(38) 26

(4) 72

Level-1) Exam. Nov. — 2015

22,

23.

24,

SRR
w7 @ 6
3) 5 4) 4

Fr ol & &d &1 3 Rig @
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1 Ry e A R @
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36+6x10+5-2=63
@ +dR-
@) +AT-
(3) xGﬁT-:~I
(4) -3 x’
R+ oo B o, — g e B e
H TR v wmadt e @
16+56—4x2+2="7
(1) 14
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(3) 26
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25.

26.

Atul is younger than Rajesh but elder
than Jagan and Suman who is elder
than Shyam. Priyanka is elder than
Avinash but younger than Shyam.
Who is the eldest and youngest of all
respectively ?

(1). Rajesh - Avinash
(2) Atul - Avinash
(8) Rajesh - Priyanka

(4) Atul - Suman

Identify the diagram that best
represents the relationship among
classes given below :

Guava, Mango, Fruits

o OO0
O

(2 @

@

(4) .

—
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Direction : (Q. No. 27 & 28)

Take the given statements as true and decide
which of the conclusions logically follows
from the statement :

27. Statements :
1. All tables are chairs.
2. No chair is a pen.
Conclusion : 1. No table is a pen.
II. Some tables are pens.
ITI. All pens are tables.
(1) Only conclusion I follow
(2) Conclusions I and III follow
(3) Conclusions I and III follow

(4) Conclusions I, IT and IIT all follow

28. Statements:
L. A pen is equal to Pencil,
II.  Penecil is longer than Book.

III. Book and Pen are not greater
than or equal to Rubber.

IV. Bag cdn contain Book.

Which of the following inference is
correct ?

(1) Bag may or may not contain
Rubber,

(2) Penis not longer than Bogk,
(3) Pencil is equal to Rubber.

(4) Pencil is greater than Rubber.,

(Level-1) Exam. Nov. - 2015
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L & 45t gfifEr 8

2. & o Fdf g By
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29.

80. Choose the correct answer figure to

Select the answer figuré which is
exactly the mirror image of question
figure when mirror is held at xy.

Question Figure :

(1)

(2

(3)

4)

NECK

|

N3O

N3 CA

A03U

AHO3N

complete the given matrix.

N7
SAA

(Level-1) Exam. Nov. - 2015

D A
A =

A

L X

Q)

?

(12)

A

29, IF IW MW B AT A g A
F FE 0o gfofer ®, o/ g ay @
¥ fer 2

97 Sl

NECK|

@ [NJOA
@ |U3CA
@ (INOIW
@ IHO3N

30. I IEX SMERT F W A & ¥ M
P QU B |

O
A
S

(2)

“CRRTRRIRRRS
?

SR
@ §§7 @
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31.

32.

How many triangles are there in the
following figure ?

p¢

(4) 25 or more

(1) 15
(2) 20

(3) 24

Among the four answer figures, which
one can be formed from the cut out
pieces given below in the Question
Figure ?

Question Figure ;
@ 2%
IR

(Level«.l) Exam. Nov. - 2015
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31. ﬁi’t%é‘lﬂs‘mgﬁrﬁﬁo‘aﬁﬁrgﬁ%?

32,

(1) 15
(2) 20
(3) 24

(4) 2577 JfyF
A e emgfa
AT g & ?

g9 Gﬂ?fﬁ' :

&=
. ©-
D

(1) (2)

(4)

@) -

&
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33. Which answer figure will complete 33. HA-H I T 99T AT F HioEy
the pattern in the Question Figure ? & qu &i ?
7 1 N 4 N
L 4 i L4 I
Y
4 o ?
N ) N

1 [ / @ { P M [ / @) L py

i = | 7 -
@ r { @ + @ | @ +
34, From the given answer figures, select 34. & W SISES ﬂﬁﬁ’lﬁf ks ke W 2
the one in which the Question Figure aﬁ‘m, IEEERES Gﬂaﬁﬁ f5q affa &
is hidden/ embedded :
Question Figure : g7 SIrghT

i | '

(D 2

¢h) ; (2

6)) : 4

@) : (4)
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Direction : (Q. No. 85 to 41)

Select the related letters/ number?ﬁgum
from the given alternatives :

856. GJMP : FHJL :: FILO : ?
(1) EGKI
(2) EGIK
(3) GEIK
(49) GEKI

36. JHFC:bGgK = ?: tWvY
(1) ZvUus
(@) XUVW
3 XUvVrT

4 XWVU

37. PALE : LEAP :: POSH :*
(1) OPHS
(2) SHPO
(3) SHOP
(4 HSPO .

38. 508:621:?: 4’?0-
@ 857

) 367

@ 875

(4) -'402-";:

(Level-1) Exam. Nov. — 2015
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A

Fér : (37 Ho 85 @ 41 ) .
RT 7@ fwegt 7 & aafe om g /G
g :

35. GJMP : FHJL :: FILO : ?
(1) EGKI
(2) EGIK
(3) GEIK
(4) GEKI

36. JHFC:bGgK :: 7: tWyY
(1) ZVUS
@ XUVW
@ XUvrT

@ XWVU

37. PALE:LEAP :: POSH : "
(1) OPHS
(2) SHPO
(8) SHOP
(49) HSPO .

38. 508:621:7: 470
) 857

@ a7

(3) "3%5_':'

(@) 402~
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39.

40.

41.

17 : 186 :: 7: 162
(1) 18
(2) 19
3 21

@ 23 o .

343:7::729:7
(1) 6
(2 8
(3) 9

(4) 13

Aananheg

o oD
@ @
Q
®
® O
@
O
(4)- @
Q
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39.

40,

41.

17:136:: 7; 1562

(1) 18
@ 19
(3) 21

4) 23

343: 7
(1) 6
(2) 8
@ 9

(4) 13

A%A:&Aé::%t?

ey

(2)

(3)

(4)-

2 729:9

o
=

@G 0e 08 8O



Direction : (Q. No. 42 to 48)

Select the one which is different from other

three.

42,

43.

44,

45.

46.

NTSE(Level-1) Exam. Nov. - 2015

¢y
(2
3
€))

(D
(2)
3
€Y

(1).

@
&)
@

(1)

2
3)
4

@
(2)
(3)
4

FLHD
JPLH
PWRN

BCYX
GHTS
NOQP
VUEF

ANBO
IZJY
ERFS
HUIV

43
53
a8

73

9-16

21-30
35-44
47-56

(17)

R - (597 Ho 42 & 48 )
oF ghT a o dT & A &

42,

43.

44,

(1)
2
3)
(4)

(1
(2)
(3
(4)

¢V
2

.. (8)

45.

. 486.

@

n
¢3)

3
(4

®

@

@
(4

FLHD
JPLH
PWRN

BCYX
GHTS
NOQP
VUEF

ANBO
1ZJY
ERFS

43

03

63

73

9-16
21-30
3544 -

47-56
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A

47.

48.

49.

50.

(1) 25-125
(2) 49-343
(3) 9-27

(4) 36-226
) v\q @ gN\S

&) ‘% (4) b\rv

Amit is elder by 3 years to Rahul.
After 10 years Amit will be thrice his
present age and Rahul will be six

time of his present age. How old is
Rahul ?

(1) 5 years
(2) 4 years

(3) 3 years

(4) 2 years

Which number is wrong in the given
series ?

8, 12, 24, 96, 190, 768, 1536

(18)

il

47,

48.

49.

50.

(1) 25-125
(2) 49-343
(3) 9-27

(4) 36-226

afe omg & WET @ 3 ad @9l B 10
ot g of @ oNg o aaa

F Rl ok Tga #F g I e
oy & B A erl| WEE @ g ;W
§?

(1) 5 a4

2 434

(3) 3 ad

(4 27

HE-a dem & T e § 7T s ?

3, 12, 24, 96, 190, 768, 1536

1) 24 (1) 24
@ 96 2 96 )
(3) 190 3) 190
(4) 768 (4) 768

i(Level-1) Exam. Nov. - 2016
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PART - II (97T - 1)
LANGUAGE TEST

Questions : 51to 100

FiEer : (997 o 51 ¥ 53 )

Re 1 9=t 71 o= et 7 @ o@ s o

T& s F aqies a8 o garar &)
51. o '
(1) S%7 9 gam @t
(2) Sy

(3) arger
(@ w1 g

52. W%
(1) SR
(2) ¥
(3) Y
(4) =f®

53. aATEH
(1) wEfe & ufEa
(2) TFERER &1
(8) gH arem ufear
(4) e 87T
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TS gLEoT
(et «rom)

54.

55.

56.

S o

M3 : (957 o 54 wd 55)
g7 @ e @ et w= 7T 9T A

(1) eI
(2) I

(8) TguT

(4) TR

(1) AR
2) s
(3) xR
(4) s

@it vesy & 9% # T siRw)
9 R 9% AHT AR B¢ @ A

(1) Frar gzey

(2) HIH gEEy

(3) AT ggEy
(4) PRy ugsy
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A

57. R = d A oo 7@ R 7

(1) @+ (2) [

(3) G (4) GEET
[3%r : (vew "o 58 ©F 59)
freifete s 7 gau aig 78 &1 qaa it
FAEIT F ST @ g7 qAaE el [AFT F
&7 7 gt I T F

58. () THY & Al ¥ g B HE A

& |

------------------------------------------

(i1)
(i) SEH S-S H A9 B A
OR & Fa 9% T |

(1) =z B A o ¥
(2) g5 B T F AR A ACH B

(3) ai @ fenfemer wa@ w9 Ao ol
3

(4) aﬁmmﬁ%ﬁmzﬁ%y

59.
o qu @Y gt @ 9 4 |

(ii)

Gif) FE e B wEdr @ @ oA A
HIE A & S|

(1) $5 Fe H T GO W a1 o
2 e |

(2)ﬂ%§ﬁﬁmwmeﬁﬁéwﬁm
% TA-STGH |

- (3) & T W % yEE & <

(4)aﬂétﬁa%@xmmﬁraﬁém
el |

i(Level-1) Exam. Nov. - 2015

..........................................

() == ol Radl @ wad wurr e

(20)

60.

61.

62.

63.

& g FH =TI B
(1) @z ok diew & 921 ddy &)

(2 afed oK sfieT %1 9§99 B
3) @t 3K slew o1 faene g6y 2|
(4) Tt R SiE" # g 499 1

‘g4’ U= F TE Iof R ¥ ¢
Q) +F+FT+HA+T+H
(2 B+ {+F+FT+A+Z + A
3 B+ {+E+A+T+H

(4) g+§+aq+g+§+a¥+g+a?

Prefofe § @ g ot 1 T A
1 =,
2 =
@) T

4) =

i A9 7 o Ay & B o @
fore Suge A ©

(1) B T g F# A
@) S gEA G A
(3) UH af HIm GET HH TG
(4) I-AX AN 9E




64.

65.

66.

67.

T W= 7 A Brede o -
1) IR + FH |
(2 SR + I

(3) W-I-EEH&

) IR + IR

foe o= F oR oueet 7@ 2
(1) Wiy

@) ufe

(3) g

(4) ==t

I Sl § wq e, @ At O R
B0 o ooref ¥

(1) & 79 &
(2) 48 &ffr &
(8) & SEF B
(4) TP B

Ww%mﬂaﬁmwm
G

AT F T B |
(1) g
() s
(3) HYx
@) e

(Level-1) Exam. Nov. - 2015

(21)

68.

69.

70,

WM = A Be-ar wwHg T 7

(1) gey
@) z=&

(3) FHurg

@ rFgEg

TR ¥ % og g @ w g=
2 :

(1) oS
(@) TeTfr®
(3) Tt
(4) T

| Rt oawt & afts oy @

TET

@) TR Faw dor-der Yo aw
FX B

(i) 39 ¥ 7T R wa B & R
el

(i) AT X Pferr w2
g e B |

(v) TG 39X X T8 | @t o
foar #7 v & ¥

(v)ﬁmaﬁgﬁmf%aawé’wsw
W B T

(D-1, i, i, v, iv

(2) i, iv; v, 1, iii

3) i, i, iii, v, iv

@ v, i, i i, v

P.T. 0O,



L.

72,

78.

74.

‘Frae # el 3 oY H AR B
Wﬁi%:

(1) Bad & ANK F & & I 8
T 2

(2) Sigar & ot wer g e

@) R B TR E I A e ¥

(4) Hae gU ¥ X B oW g & &
2l '

‘Ffs’ W F HF-ar T ¥ 7

(1) fag -

@ ©=E

3) FHaE

(4) TYEY

orEer e & Rie wd i B
1) RR e = ot &

) e F5 3@ T 8

@) e a sigr 5@ T A

(4) S EgTa |

o g% ¥ BF-E Iue @ g ?
O =

(2) 99

@ 99 -

@ g

(Level-1) Exam. Nov. - 2015

(22)

75.

76.

77,

78.

Prfaft Fo-GReRl § B-91 FEHR
¥?

TavT iR e S,
gl AR faige Al
(1) 7%
(2) T
@) wy
(4) IS
R &0 HEE @ o R -
(1) 5 BIRMEN
(2) =¥ B
(3) =GR &
(4) 7€ @

Prafafeg # @ weww @ & =14
oox g

n &

@)

@)

@ @

T’ o= @ gy e 8
(1) awi + A

(2) amt + &
(3)Ia1ﬁ+aﬁrrq

(4) 9 + SN



79. SRy Fo A A ¥ 7

80.

81.

1) /M, 9 ¥ %

@3 % 49 37

3 4 9 8§ ©
4 FATTH

T A s | Fekfeg gy @ ae
& Fafor #ifg -

gmaﬁf%aﬁaméav,ﬁﬁaa
Frrer @ gom

(1) W T

2) Wy g

(3) HIH qF

(4) faum ames

?Tﬁrf@a FA-GHE B SR

| L T Prega o fem,
W Sl B gg wA |

(1) Iy

(2 T%

(8) Wy

4) w95 |

-

i(Level-1) Exam. Nov. - 2015

(23)

g o 7 R & (85)

A

82. R RU M wmiyw & ymer ok ot
T T W @ R v dy & &
. AR A T w g

() mﬁﬁé‘ﬂjﬂ@ﬁ??ﬁ@mﬁﬁ
g SIgE TOUN )

(ii) 98 4R =T B ey F fReg B

(i) F0 oS Red w af @
Hhedea wfeT § ar emr B

(v) 8 S & eEER qT
W—Wﬁiﬁﬁéﬂ@?ﬁ%l

(v) & FH9 Ui R o gear ¥

=

) #, i, iv

3) iv, i, ii

(4) i, iv, ii

Fer - (97 Ho 83 & 90 7%)

7 Ry 7@ma & ey Rew &t @ e afer
ST T T Bora/ ,

© R & 4 A A o, cad ook
&l o (83) T B AR
T &9 & T ¥ =W (89
e 81T & ¥ o wew ekl & ¥

---------------

ooooooooooooooo

---------------



A

-RT M 3 o 7 WU ¥ a ¥
TR ST ShaT A9-9F B Far H (86) ...
......... F Rar Bl o 3 Rt @1 Ra
gard| 98l 8 32 BT (87) ..evvvvennnnnn. 21
3| A A S FR R T, TTCAR A AR
ga & offal ¥ oifg o oy Bl S e
A 88) .. 0., C B 1) O
(90) veverrrenren. & T FH B, W AT & A
Poom ¥ A Av e o dar F AR
gAfEd

83. (1 &

(2) =T
(3) &4
@) FT=
84. (1) orfEm
(2
(3) WR-Ferd
4 Tl
85. Q) 9"
(2) "9
(3)
(4) e

i(Level-1) Exam. Nov. - 2015

(24)

86.

87.

88.

- 89.

90.

(1
(2
3
4

(1)
(2)
(€))

@

(1)
(2)
3

(4)

(1)
@
3
4

1)
2

"3

@

1) §8%% 24717 §3%2

ERICE]




[T : (357 do 91 & 95 %)

W9 RY 70 T @ vew ga w8 feew ar
AT BT/

WA G wgE R A A
@ F o W Akt ¥} W ¥ daw @
sfeTe Jor AT ol SEeT de-daa W
W, & o Bl @ som & ReE e
I FR ¥, R R e il e o @
TR E E, e i oo @i @ R
B % E & TS RigT aTER @3 A §
aﬁﬁmmﬁmmwmm
ek IR g8 W w1 B 9, Rreed e e
A ARF Teae. aa ¥ R a3

T H RE ad B FACH T I gy

B gt © | ol Rl ¥ o Reh ¥ qmr
T el e s fmn, s wmar el
GRS W AR B R Y o g aE B Y
#7 & X % T A gAnT @ omem 3
T I8 @ R IqE FET A ST ofg §
I8 o ¥ R o e ol s
W9 §e A7 # aReg far ¥

91. AR ¥ s Fr=fifaa o 4 f5Q

e 3al & 7
() & H

@) w7FE F
(3) T =
(4) I9T Fit

-

i(Level-1) Exam. Nov. - 2015

(25)

92.

93.

94.

95.

A

qd W @ B ge ot R

JuraE TEF R ?
(1) ot @

2 ¥ H

(3) T H

4) @d F;

%aawmﬁ'mﬁa%mﬁ%m

Refe gt & 7

() 89S 32 919 qr &
(2) GHINT 9% e BT &

(3) TN I -GH G o ¥
(4 T 9% s HT 3ar @

e fEH wew T ¥ o g

o § 7

(1) w@rdt =i
(2) ST =fF &

(8) w+it A @i

(@) 97FE F 9= &7 At AR A

‘TWAlD A= F ST A a= g

(1) &%
(3) widF

) TIAF
(4) YIRS

P. 1O,



A

fdser : (ss1 "o 96 ¥ 100 TF)

eTfofeT Frer # YBHT g9 @6l [dF H
FIT FoTT |

% Tel H geER &,
T B e S |
o1e el I A A,
fife @y @ e |
e e, e % 9
w2 eR | =@ S|
o 8, ¥ & R,
T W T 5 |
TH 9 T A T 5 |
e | A =7m,
Ry g 9T 4R eMF
96. ‘gRATET
e 7

(1) He » R

q= H sraﬁﬂﬁm% e R

(2) g Rt & o _
(3) ¥ Fmall erfq ervEll & fo
'(4)&313%33%%&‘111

(26)

97.

98.

99.

100.

qsmfarﬁ_ﬁ?a%m"rﬁmmaﬁ%?-
1) =

(@ WA

(3) W& A
@ B

¢ o sher R Rig ol 3 ¥ 7
() 7RI @ wr @ R

@ TAggl # wEN B [

@) @ F ge & R

@ o T F a S R

e = OB = e
1) &
(2) dmEEl
(3) TRl
(4) W

W e @ fore IugE 4
(1) FHI o =E

(2) Y B AR

@) gl S @6

(4) T P =E

{(Level-1) Exam. Nov. — 2015



(27)

A

Note : Must fill Language Option of Page 1 at Sr. No. 10 of O.M.R. Sheet.

PART - II (17 - I1)
LANGUAGE TEST

AT GRI&oT
(English Language)
I =
Direction : (Q. No. 51 to 55) 62. Why is it difficult to persuade
Reac:the fqliowi;g Rixssage and answer the mothers not to wrap the lunch boxes
questions given after il, . : ; :
In a metropolitan city, the worst offenders = tl‘1e11 school - going children in
are the upper income group of the so-called plastic bags ?
posh colonies. Though ecducated, the .
residents of these affluent areas are (1) Because children like colourful
unaware of the damage done by the plastic plastic bags.
bags. Nearly a million children in the city
schools carry their lunch boxes in plastic (2) Because the plastic bags cost
bags. They callously throw them away and them almost nothing.
cause unhealthy environment. :
As it is convenient for mothers to wrap the (3) Because if they don't do it, their
food in plastic so it is difficult to persuade children get late.
them against doing this. When the midday -
meal scheme is fully implemented, it must (4) Because  mothers find it
be seen that no plastic wrappers are used. convenient to do so.
As these wrappers are light in weight, they
are born aloft by the wind causing visual : -
shocks. Unlike cotton or paper bags they 53. What care should be taken while

remain undissolved in the mud and stop the
rain water from seeping deep into the earth.
This affects the natural growth of greenery.

51. How do school children in the
metropolitan city spoil the
.environment ?

(1) They carry their lunch boxes in
plastic bags.

(2) They eat their lunch in the
_school. )

(3) After eating their lunch, they
throw away the plastic bags
carelessly.

(4) After eating lunch, they don't
wash their hands,

i(Level-1) Exam. Nov. - 2015

implementing the midday meal

scheme ?

(1) Parents should take an active

part in the scheme,

(2) No plastic wrappers should be

used.
(3) No child should be left unserved.

(4) No teacher should partake of the-
food.

P.T. 0.
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54. How do plastic bags affect the natural
growth of plants ?

(1) They don't let the roots absorb

water from the soil.

(2) They stop the light of the sun

from reaching the plants.

(3) They take up much of the water
from the soil.

(4) “They stop the rain water from

seeping down into the earth.

55. What is meant by the word
‘callously' ? ;
(1) without an} feeling of pride
(2) without any feelinglof sympathy
(3) without any feeling of jealousy
(4) without any feeling of joy
Direction : (Q. No. 56 to 60)

Read the following stanza of a poem and
answer the questions given after it.

A lily of a day

Is fairer far in may,

Although it fall and die that night-

It was the plant and flower of light.

In small proportions we just beauties see:
And in short measures life may perfect be.

(Level-1) Exam. Nov. - 2015
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56.

57.

58.

59,

60.

ATV EPOWE I s scmmmisoremmomnninss

(1) summer (2) winter

(3) spring (4) autumn

The life span of a lily is ...ovvvnennnn
(1) one hour (2) one month

(3) one year (4) one day

Why does the poet call lily 'the flower

" of light' ?

(1) Because it is light in colour.

(2) ?ecause it is light in weight.

(3) Because it gives light.

(4) Because it gives joy and

happiness.

Perfection can be achieved

(1) in afew days

(2) inso many days

(3) in a short span of time

(4) in a long spa;m: of time

What is meant by the phrase 'small
proportions' 7

(1) small objects

(2) small flowers

(3) small fruits

(4) small trees



Direction : (Q. No. 61 & 62)

The following five sentences come from a
paragraph. The first and the last sentences
are given. Choose the order in which the four
sentences (T, U, V, W) should appear to
complete the paragraph,

\61.1} S1 Dowry related crimes are on the

increase.

S6 So all women should contribute in
washing out this stigma from the
face of our society.

T - Education of women is a must to
eradicate this social evil.

U - It also appears that this problem
has to be solved by women
themselves.

V - Most cases arise out of lack of
mental toughness among women.

W - The awareness level of their
rights has to be raised.

1) WVUT
@ UVWT
@) TUVW

4 VTWU

E(Level-1)-Exam. Nov.-2015
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62. S1 Everybody agrees that something

should be urgently done to arrest
the rise of pollution.

52

S6 DBesides, the laws of Euro 1 and
Euro 2 should be strictly
enforced.

T - Yet not many people are really
doing something for it.

U - It is advisable to use a public bus
rather than a private car.

V -We should not use a vehicle
unless we must.

W - We should try to minimize the
use of vehicles.

1) TWVU
@ TUVW

(3) WVUT

4) UWTV



A

Direction : (Q. No. 63 & 64)

The following questions have the second

sentence missing. Choose the appropriate

sentence from the given options to complete

if.

63.

64,

A.

(1

2

(3)

@

Thoughtless felling of trees and
indiseriminate deforestation has

played with rain cycle.

...................

Otherwise, our earth will become
a barren and lifeless planet.

On the Van Mahotsava day, we
should arrange meetings to think
about our country people.

The deforestation has decreased

rainfall.

Today we need to consume the
existing green cover and to plant

more trees.

Our should

researches on rain cycle.

scientists

Children usually play on the
roads and never bother about the

moving vehicles.

TR IE IR R B

They must not do so as they
ignore the vehicles coming and
going and risk themselves.

E(Level-1) Exam. Nov. - 2015

do-

(30)

(4)

(1) The road users and others must
not at any cost cut it short by
ignoring traffic rules.

2

Life, indeed is very precious.

3)

Young people look at driving as

enjoying.
&

Playing on the road is really
dangerous.

Direction : (Q. No. 65 to 72)

Choose the word which best fills the blank
from the four options given.

65.

66.

67.

In the north-east

-------------------------

Mountains of clouds could be seen

approaching.
(1) big (2) huge
(8) high (4) long

Education was safe and

----------------

from social evils earlier but this is not

true today.
(1) flourished (2) protected

(3) influenced (4) immune -

Abolishing untouchability is a

PERL Jivimiunins S Ao to the Father of
Nation

(1) thank (2) trust

(3) tribute (4) tribe



G8.

69.

70,

7

72.

- WO WOLE wiierusisviimmanivinsons

Mahatma Gandhiji always exhorted

people to ......ceevvennennn. violence.

(1) shun (2) stop

(3) shut (4) stag

Nelson Mandela was pleasantly

—— by dignitaries and
world leaders who were coming to pay
their respects.

(1) besieged
(2) behaved

(3) bestrided
(4) ‘beleaguered

Polythene shopping bags and
wrappers are & big threat to our
sewer system. They can ...............

drains and disrupt our sewer system.
(1) choe (2) chock

(3) chowk (4) choke

'The Ramayana' is the ..

book for Hindus,
(1) great (2) sacred
(3) refined (4) remarkable

. inside the
elevator when it stopped because
there was a power cut off.

(1) trapped (2) jammed

(3) rocked (4) caugimta Bk
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Direction : (Q. No. 73 to 82)

In the following passage there are some
numbered blanks. Fill in the blanks by
selecting the most appropriate word for each

blank from the given options.

But then I slowly saw that not only was I
not free but my brothers and sisters were
not free. I saw that it was not just my
freedom that was (73)...... but the freedom
of everyone (74)..... looked like I did. That is
the African National
Congress, and that is when the hunger

when 1 joined

(76)......my own freedom became the greater

. hunger for the freedom of my people. It was

this desire for the freedom of my people to
live (76)......
respect (77)......

lives with dignity and self
that
transformed a frightened young man into a

animated my life,

bold one, that drove a law-abiding attorney
to become a criminal, that turned a family-
loving husband (78)...... a man without a
home, that forced a life loving man to live
like a monk. I am no moré virtuous or self-

. sacrificing (79)...... the next man,' but I found

that I (80)...... not even ‘enjoy the poor and
limited freedoms I (81).......when I know my
people (82)...... not free. '

78.. (D briefe'd_ (2) trimmed
(3) curtailed (4) shortened

74. (1) who (2) whom
(3) that (4) which



75. (1) of @) to
@) with (@) for
76. (1) Their (2) your
? (3) his 4) our
77. (1) who (2) what
" (3) ‘that () this
78. (1) in @ fnto
" (3) to J(4) with
79. (1) for (2 as
(3) then (I4) than
80. (1) can @ could
3) will (4) would
81. (1) am allowed

82.

(2) have allowed
(8) had allowed

(4) was allowed -

(1) were (2) was.

(8) are (4) be
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83.

84.

85.

Direction : (. No. 83 to 85)

Choose the appropriate phrasal verbs to
complete the sentences.

Local residents were angry at not
heing: o nnenimaanie on the new
housing proposal.

(1) brought up (2) brought déwn

(3) broughtin (4) brought out

TR wonnienin on the last stage of
their journey.

(1) setout (2) setin

(3) setoff (4) setup

These shoes are so small that you

(1) getout (2) get away

get into (4) getup

" Direction : (Q. No. 86 to 88)

Select the meaning of the given
phrases/idioms.
86. Any Tom, Dick or Harry

(1) any three persons

(2) any person from a western

country
(3) any ordinary person

(4) anyone of three different persons



87.

88.

Be raining cats and dogs

(1) to be raining with thunder and

lightning

(2) to be falling cats and dogs from
the sky

(3) to be raining on cats and dogs
(4) to be raining heavily
Smell a rat

(1) to suspect that something is

wrong
(2) tocome to know presence of a rat
(3) to smell like a rat

(4) to feel an unpleasant smell

Direction : (Q. No. 89 to 93)

Select the most appropriate option to fill in

the blanks from the given alternatives.

89.

90.

I have started to jot down the facts in

T the way- most
people do.

(1) dire (2) dare

_(8) dairy (4) diary

This road doesn't ..........ccrveeen tO
Delhi.

(1) go (2) walk

(3) run (4) lead
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91. When we saw a snake in the class

92.

93.

room, our entire class started to

(1) quick

(3) queack

We are trying to appoint

... 1n its boots.

(2) quake

(4) queue

(1) intelligently (2) heavily

(3) highly

(4) strongly

.........

- qualified teachers in our schools.

You will reach Bombay quickly if you

travel by a

(1) quick

(3) rapid .

(2) speedy

(4) fast

Direction : (Q. No. 94 & 95)

Select the word which means the opposite of

the given word.

94,

95.

Different

(1) indifferent (2) combined

(8) similar (4) separate

Prevent

(1) allow

(2) order

(3) command (4) begin

’E0.
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Direction : (Q. No. 96 to 100)

Read the following passage and answer the
questions given after it.

Qur earth is like a greenhouse, with one
difference. A greenhouse is encased in glass,
while the earth is encased in a thin blanket
of carbon dioxide (CO,). This carbon dioxide
serves the same function for the earth as
does glass for a greenhouse. It helps to keep
the earth warr&ﬂ Scientists call it the
‘greenhouse effect’, The amount of carbon-
dioxide in the air is only 0.03 percent, yet all
plant and animal life depends on if. The
percentage of carbon-dioxide in the air is
kept almost constant by a series of natural
processes. We call it the carbon (or carbon
dioxide) cycle.

96. What is a greenhouse ?

(1) A house in which green plants
have been grown.

(2) A case of glass in which fish and

other water animals can be kept.

A building with glass sides for
growing plants that need
protection from sunlight.

A building with glass sides and a
glass roof for growing plants that
need protection from cold
weather. i

&)

@

How does the earth differ from a
greenhouse ?

(1)

97.

he greenhouse is encased in
glass, the earth in a thin blanket
a ~ of carbon dioxide.

(2) The greenhouse is' encased in
carbon dioxide, the earth in a

sheet of thin air. .

(34)

98.

99.

100.

(3) ‘The greenhouse is too small, the
earth too big for green plants.

(4) The greenhouse can be carried
from one place to the earth but
the earth ean't be carried.

Carbon dioxide serves the same

function for the earth as .......
(1) The greenhouse dloes f_'or glass.
(2) Glass does for the greenhouse.
(3) Glass does for cm:‘bon{ dioxide.

(4) 'The earth does for carbon dioxide,

Glass helps to  keep the
g‘reenhouae

(1) warm (2) lighted

(3) cool

(4) safe

The carbon eycle is a series of natural
processes that help

----------

(1) To keep the air free from
pollution. .
(2) To increase the amount of carbon

dioxide in the air.

Mo keep the amount of carbon
dioxide in the air almost
constant.

@)

To reduce the amount of carbon
dioxide in the air.

(4)
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PART - I1I (1T - I1I)

SCHOLASTIC APTITUDE TEST
iftrs AT gEeT

Questions : 101 to 200

101. The correct order of radii of three

102.

103,

104.

species
Ca, Ca*, Ca* is
(1) Ca> N >pCa™

(2) Ca* > Ca*>Ca
(3) Ca*>Ca>Ca*

4) Ca*>Ca®* >Ca

Read the following statement and
chnose the correct option.

(a) Calcium is present in the bones
of animals and human beings as
sulphate

Heating Calcium carbonate to
1070K - 1270K gives quick lime
Aluminium is not affected by dry
air

only (a) and (c) are true

only (a) and (b) are true

only (b) and (c) are true

All are true

(b)
()

8
(2)
(3)
(4)
Temporary hardness of water is due
to compound 'A' and can be removed
by adding compound 'B'. A and B
respectively can be :

(1) Mg(HCOy),, CaCO,

(2) CaSO, HC!

(8) CaCl,, MgSO,

(4) Ca(HCOy),,Ca(OH),

Match the Column I and II.

| II
(a) Aerosol i. Shaving cream
(b) Foam ii, Face Cream
() Gel . iii, Clouds
(d) Emulsipn iv. Jelly
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101,

102.

103.

104.

frr d9 afidier & Bromelt &1 @8 9
2

Ca, Ca*, Ca*
(1) Ca> O >Ca™
) Ca*> Ca*> Ca
(3) Ca*>Ca>Ca™

(4) Ca*>Ca™>Ca
Fret B9w 92 T we a9

(a) AFAIH TAGE G qEE ) Efeedl
T g% 3 ©9 F UE 9N 8

(b) %Féatrq FEMT 1070K ¥ 1270K
i S 9 FeE @B 3T §

c)qqtﬂﬁmsﬁiﬂ q gfad =6

(1)%36@@1(::)8@%‘

(2) 399 (a) 3T (b) W €

@) Faa (b) 3 () W B

(4) aft 9&1 ¥

o ST FORal H HRET A
'A' E aT IQ AP B! S| HE gL e
S FHaT &1 A ol B FHEEn: 8

(1) Mg(HCOy); CaCO,
(2) CaSO,, HCI

(8) CaCl,, MgSO,

(4) Ca(HCO,), Ca(OH),
P 1 &K 11 %1 s a7

I II

(a) AU i AT B
(b) B i, %9 B
() o i, e
(d) TR iy, S

P.T.O,



105.

106.

107.

108.

a b e d
(1) i, 1, 1, iv
2y i, i, iv, iii

(3) i, i, iv, ii
(@ i, iv, i, iii
Two oxides of an element contain
57.1% and 72.7% of oxygen. If the
first oxide is MO the second is :
>
1) M0 @ Mo,
) M,0, (4) M,0,
The atomic mass of an element is 19.

The second shell of its atom contain 7
electrons. The number of protons in

its nucleus is :

(1) 9 @ 10

@ 7 (4) 12

Hydrogen gas is not liberated when

Pb is reacted with Conec. HNO,
because :

(1) Pb is less reactive than hydrogen.

(2) Pb is than
hydrogen.

more reactive

(3) ’Conc. HNO, is strong reducing
_agent.

- (4) Conc. HNOj is strong oxidising

agent.

The correct order of
basicity in the following may be :
(1) Ba(OH), < Ca(OH),< Mg(OH),

< Be(OH),
(2) Be(OH), < Mg(OH), < Ca(OH),

< Ba(OH),
(3) Ba(OH), < Mg(OH), < Ca(OH),

< Be(OH),
(4) Mg(OH), < Ca(OH), < Be(OH),

< Ba(OH),
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105.

106.

107.

108.

a b e d
(B 8% #H i%
(2y i1, i iy,
(3) i, i, 1w, 1
(49 1, iy, 1, 1

T o @ O olfeEEs ¥ wAw: 57.1%
g 72.7% SiFRIH § 3t yeen oiffeEe
(1) M,0 @° MO,
@) M0, @) M,0,

Rrll o @1 TR A 19 ¥ TS
B 7 SR € QA gED A

A A & den e o

(1) 9 (2) 10
3) 7 (4 12

Pb F 5@ Qg HNO, ¥ frar @ il
T A ezeom T e e, I ¢

(1) Pb eESIeE d F9 Brastia &
(2) Pb eEseM 4 ofvs Branddia &

@) @ig HNO, Yau SIar® &

(4) TiE HNO, Y& AeE &

Frer § sodt gt ardm wla % sige
qEl % B
(1) Ba(OH), < Ca(OH),< Mg(OH),

| < Be(OH),
(2) Be(OH), < Mg(OH), < Ca(OH),

: < Ba(OH),

* (3) Ba(OH), < Mg(OH), < Ca(OH),

< Be(OH),

(4) Mg(OH), < Ca(OH), < Be(OH),
< Ba(OH),



109.

110.

111,

112,

113.

A gas on passing through ammonical

“AgNO; does not give any precipitgfé

but decolourises alkaline KMhO,.
The gas may be :

(1) Cpl,
@) C.H,

(2) C.H,
(4) C,H,

ThE chlorination of methane is an
example of :

(1) Decomposition reaction
(2) Substitution reaction
(3) Addition reaction

(4) Oxidation reaction

The correct name of the following
compound is :

- CHy,—CH- CH-CH,
CH, G,
(1) 2, 3-Dimethylbutane
(2) 2- Ethyl 3-methylpentane
(3) 2, 3-Diethylbutane
(4) 3, 4-Dimethylhexane

The noble gas which occurs most
abundantly in the atmosphere is :

(1) He
(3) Ar

When Geeta put a copper strip in a
solution kept in a laboratory, the
colour of the solution turns blue.
According to you the solution can be :

(1) AgNO;  (2) Zn(NOy),
(3) NaCl (4) KNO,

(2) Ne
4 EKr
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110.

111.

112,

113.

" (3) Ar

A

@ T s AgNO, § TR
W ¢ 4 STEEY WK Wl e 9X 4d
KMnO, TN & & 8, 98 ™ &
gFl &

(1) CyH; (2) C.H,
@) CH, ) C,H,
AT i FALRHT T T B -

(1) ergered SAdfsHar

(2) e srf¥fshan

(3) warT S

(4) ST ST

fer A &1 wE T Bem
CH,~CH - CH-CH,

| I
C.H; C,H,

(1) 2, 3-¥IEES Few
(2) 2-3U13T 3-URT 4=
3) 2, 8-31 garga e
(4) 3, 4-31 HUET T

¥ gEd ol o W ARt
amest g ®
(1) He (2) Ne
(4) Kr

drar F gAmmer ¥ @ o f{ewe oo
i #t ggdt sRit A faeEE @ v A
8 | U YR J8 fwEe & w6
(3 ;

(1) AgNO,

(3) NaCl

@) Zn(NOy),
(4) KNO,

P.T. 0.



114.

115.

116:

117.

118.

If a photosynthesizing plant releases
oxygen gas containing O It is
concluded that the plant has been
supplied with :

(1) C.H,,0, containing O

(2) CO, containing O™

(3) H,O containing O™

(4) Oxygen in the form of ozone

The sequence of cell cycle is :
1 §5G6,G, M

2 S,M,G,G

3 G;,S8,G,, M

@ G,,5 MG

An injury in accident has disturbed
regulation of body temperature,
water balance and hunger. The part
of brain effected is :

(1) Cerebellum

(2) Cerebrum .

(3) Medulla oblongata

(4) " Hypothalamus

Which of the following is a group of
hermaphrodites ?

(1) Earthworm, hydra, leech

(2) Cockroach, earthworm, hydra

(38) Earthworm, ascaris, leech

(4) Ascaris, cockroach, hydra

If a rat is given an injection of sodium
iodide with radioactive iodine, then in

which of the following most of iodine
would be incorporated ?

(1) Cartilage (2) Thyroid
(3) Parathyroid (4) Lymph nodes

(Level-1) Exam. Nov. - 2015
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114.

115.

116.

117.

118.

TeHIST GeAN S URFT & A IR O
di appizd ¥ O gEa olfe W
gredr &, @ sa@ Freed g8 e fE @
7w fRm ®

(1) 0" 3 Y CH 0

2 0" 3 F§¥ COo,

3 0% & g H,0

(4) aﬁa’ﬁ%mﬂaﬁ%ﬂw_ﬂ

FIRH T F TE FAE

(1) S,G,Gy, M

@ S, M, Gy, G,

(3) G,,8 Gy, M

4) G;,8, M, G,

gfe & de @R & H T A
o fEEen, OFt @ EgeH, 9@ AT
anfz Frf wwifed gu ) wRas @S-
T SNIET ot & ?

(1) FPART

(2) TRaeE

(3) A I

(4) FEDATH

P % & @ o TIE SwERE @
g7

(1) Fgam, TR, S

(2) HHUH, HY, TEF

(3) @Fgem, NagHH, W

(4) Mg, FHUE, T

a%ﬂwmmgﬁ
ﬁmmwzﬁwmm,
affireisT oA Sl wiiE Bl ?

o

(1) IRy
(8) YTRES

(2) 9UEe
(4) T



119.

129.

121.

122,

123.

124,

(1) Prothrombin and thromboplastin
(2 Ca** and thromboplastin
(3) Fibrinogen and Ca™

' (4) Fibrinogen and thromboplastin
In a six year old stem, the oldest
layer of secondary xylem is situated
just :
(1) Outside the primary xylem
(2) Outside vascular cambium
(3) On the inner side of cork

cambium
(4) g;n the inner side of vascular
cambium

The tusks of female elephant are :

(2) Lower Incisors
Canines

(1) Molars
(8) Upper Incisors

Which of the following
effective for photosynthesis ?
(1) .Red light = (2) Blue light
(8) Green light (4) Violet light

Which of the following is true with
respect to concept of Biodiversity ?

(a) Biodiversity refers to different
species of flora & fguna present
in an area. 5

Biodiversity refers to only the
flora of given area.

is least

(b)

(c) Biodiversity is greater in forests.

(d) Biodiversity is total mno. of
individuals of a species in given
area. _

D @&D® @ b &)

@ @&@© @ ©&©

Select the group which contains only
non biodegradable items ?

(1) Wood, paper, leather

(2) Polythene, glass, PVC

(3) Plastic, glass, grass

(4) Plastic, nylon, cardboard
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119.

120.

121.

122,

123.

124, .

Fefifes. & ® #9-@ o5 ond

A

TR OB AT SN AT U B Al
e 4 fhag gy et & 7

(1) e qur g

(2) Ca™ Tur SiEraie

(3) PRSI qar Ca™

(4) BN qr giarfes

B A [ 9 X aRst amem &L
a9 QI OX e 2

(1) e SEeEd & A}

(2) T e & et

(3) B HfeEm P ST 9 S

(4) TR FfEET F ofwy # @GR

mar welt & aeY REy g @ 48 &
SRR

) T (@ PR g

(8) FUL Fa® (4) WIH

Y e ¢ fow omH d @ @
faeT ¥aq F9 q9EaTEl & ?

(1) O 9 (2) e ST

(3) BT YHT  (4) RIS

@ @
(4) (b) W (c)

(1) (a) W (b)
@ (@

Pl awgett @ 8 ? :
(1) v, HE, TG
(2) didhed, @, O @ &
(3) W, 4, =9

(4) <R, TEAE, T

P.T.O.



125.

126.

127,

128.

DT

At which trophic level,
energy will be available ?

maximum

-
(2) Ty

@ T, @ T,

A short length of DNA molecule
contains 120 adenine and 120
cytosine bases. The total no. of

nucleotides in this DNA segmentis: ., |

(1) 120
(3) 240

(2) 60
(4) 480

In the following diagram, ABC are :
A

c
A B C

(1) - Cotyledon, Plumule, Radicle
(2) Plumule, Radicle, Cotyledon
(3) “Radicle, Cotyls yvledon, Plumule
(4 Plumule, Cotyledon, Radicle

In the figure, the semicircle centered
at O has a diameter 6 em. The chord

BC is parallel to AD and BC = %AD

The area of the tgapezium ABCD. in.

em? is
/B.L“:z.o\
A 0 D
(1) 4 @ 42
®@) 8 @ 82

(40)

125, FrefeRea § 4 9 ®WX W qaHE

ot gl ?
T
T,
|
T,

(1) T, (2) Ty

@f T, (4) T,

126. DNA & &9 & @ 8 a9 H @i

qaT WEAEM B HAM: 120 WA ¥

g DNA & ¥ ga e
g ?

(1) 120 2 60

(3) 240 (4) 480

127. Prefsfae = § ABC @am € ¢

o

A B C
(1) dIeT, ST, TEET
(2) SiGT, YAIGY, ST
(3) TEIHT, AT, MFT
(4) Wiy, A, THHT

128, ogfy & ordgw #1 &= O ' &K AD

w arg & Rad @ 6 & 81 S
BC,AD-%W%WBC=%AD%
qa ABCD 1 &=, @ ¥ 2 ¢

/35‘-'_*_\0\

A 5 D
(1 4 @ 442
(3) 8 @) 842



129,

. lgoﬂﬂlateral triangles I, II, III and IV.

131.

In the figure, the radius of the larger

- circle is 2 em and the radius of the
smaller circle is 1 em and the larger
circle passes through the centre of
the smaller circle. The length (in cm)
of the chord AB is :

g .
(3) 5 (4) i

@) 2

5v/34

“are such that the altitude of triangle
kI is the side of triangle II, the altitude
of triangle II is the side of triangle III
.and the altitude of triangle III is the
side of triangle IV. If the area of
triangle I is 2 cm? then the area (in
em?) of triangle IV is : .

A8 1 B0 . B #Bs
(1 g (2) 16 3 32 4) v
A ABC is a right angled triangle with :
ZA =90°,
AB=bcm, AC=acm,
and BC=ccm

A circle is inscribed in this triangle.

The radius of the circle, in cm, is :
(i) atb=-c £
(3 E_(a —b+c) ) 1

(Level-1) Exam. Nov. - 2015
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B -9 91 45
(%) S (2 E 3 39 (4)_54“
AABC TH wwhT. By
ZA =90°% % e
AB=p @, AC=a Tt

T BC=c & B

=

L

Broar, aof 5 2 :

A a+d 4—__(:.?-: {2)%({1-}-{;—(:) i

@ @-b+o)@,

P :
REL
it =







137.

138.

139.

140.

141,

If sin 87° and cos 87° are the roots of
the cquation 2*— bx + ¢ = 0, then the
value of b® is :
(1 ¢

@3 1-¢

@ 1+2¢c
@ 1+¢
If |[x—y|] =1and

i f )

\— = xy, then the number. of

Y

different pairs (x, y), which satisfy
both the equations simultaneously,
is :

(n 2 (2) 3
3) 4 4) 5
One of the factors of

8la* + (x — 2a)(x — Ga)(x
(x—1la)is:

(1) 2*—18a+31d°
(2) #*+ 13a+ 31a°
(38) 2%+ 18a—31a?
(4) «*~18a+ 31a®

The value of
B
—_3_+ AT
9 9 9

R

1
) s 2) 33
(1) 7] (2

3 3
3 4
® @ @ T

If x=. 5++21 and y=\}5—~m

then the value of (x—y) is
1 2v21 (2 10
@ 6 _ @ +J6

NTSE(Level-1) Exam. Nov. — 2016
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A

137. 4R sin 87° X cos 87°, TEGT

138.

139.

140.

141,

P-bx+c=0% AT T b2 W AR
.

(1) e .(2) 1+ 2¢
@) 1- ¢ (4) 1+c
e |x—y| =1
Gﬂ'{£=xy, %,

y

qa = gl (v y) @ dEm S
Gl Tl B U WY A B 8
et 3

() 2
@3) 4

2 3
4 5

8la® + (x - 20)(x — ba)x — 8a)
(x—lla)qﬂqzﬁﬂuﬁ@g%3

(1) «*—13a+ 31d°
(2) ¥+ 13a+31a’
8) »*+ 18a - 31a°
(4) x*-18a+ 31a’

& A 8

& % @ 3
3 3

® %3 @ B

aR x=y5+421 T y=45-421

%, ad (x—y) &l q9 B
1 2721 (2 10
@ 6 @ *6

P.T. O.

raA



142. Let x be the greatest number by
which if we divide 366, 513 and 324,
then in each case tie remainder is
the same. The sum of digits of xis :

M3 @4 @5 @7

1f 2 number m is divided by 5 leaves a
remainder 2, while another number n
is divided by 5 leaves a remainder 4,
then the remainder, when (m + n) is
divided by 5 1s:

Mm1 @2 B3 @ 4

If 3 sind + 4 cost = 5, then the value
of 4 sinB — 3 cosb is :

(B -5 (2) -2

3 1 (4) 0

Consider the points A(-5, - 1),
B(- 1, 0), C(1, 2) and D(1, 3). Let P be
a point such that d = PA* + PB* + PC®

+ PD* The least possible value of d
in:
(1) 28

143.

144,

145.

(2 30 (3) 32 (4) 34

146. I play a game in which two dice are
thrown together. I win if the product
of the two numbers appearing on
their tops is odd or a multiple of 5.

The probability of my winning is :

1 5
=L Y s
(D 3 (2) 12
: 7 1
gy e Ay =
= 18 2 4

147. A solid metallic sphere of radius r is
converted into a solid right circular
cylinder of radius R. If the height of
the eylinder is twice the radius of the
sphere then: :

2

1) R= 5 Rl
o)) r (2) 5
2r J3r

3) R=,— 4 R=
(3) 1’3 4) 9

E(Level-1) Exam. Nov. - 2015
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142.

143.

144.

145.

“146.

147,

o B x a8 99 Q 99 den © Rl
afr B4 366, 513 3T 324 H 9 I, W
g Refy § 99 ouE Bl x B TR W
AR

M3 @4 @5 @7

R dEr m 5 N G I W AW 2
A dE n B 6 W WM AN W 4 AW
W?,ﬁ(m-&n}ﬁ5ﬁ‘ﬁmﬁﬂ
A9 & o )
M1 22 (33 @ 4

ot 3sind+4cosd=5 B, a9
4 sin® — 3 cos® H A © :

() -& 2 -2

3 1 (4) 0

figell A5, — 1), B(- 1, 0), C (1, 2) 9%
D@, 3) W far #kQ 4k w [y P
56 9K ¢ B d = PA? + PB? + PC” +
PD?, @ d & FAGT WA AN @
(1) 28 (2 30 (3) 32 (4) 34

¥ o5 O Qa § P @ 9 B O
Ay G om g1 Sfid Sem, AR
o & S S WAl H PR U

Ry dem ¥ a1 5 B TR &1 A S
% T

1 5
(Dg (z)ﬁ

7




148.

149,

Match the table I with table II and
select the correct response from the
options given thereafter :

Table I Table 11
(a) Louis XVI (1) 1792-93
became the '
king of France
(b) Convocation of (i) 1804
Estate General
(¢) France became (iii) 1774
a republic, the king
was beheaded
(d) Nepoleon became  (iv) 1789

emperor of France
a b c d

O i #, i v
(& i v i

() iii, iv, i, i
@ iv, i, i, i

Match the table I and table IL and
select the correct response from
option given thereafter :

Table 1 Table I
(a) Montesquieu (i) Social
- Contract
(b) Rousseau @3i1) Mein
Kemph
(¢) Karl Marx (iii) Das Capital
(d) Adolf Hitler (iv) The Spirit
of Laws
- -a b Lw d
) iv, i, i, i
@ ii, i, v, iii
8) i, v, i, ii
4 i, i, i,  iv
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148.

149.

A

afer 1 @ afeesr 11 8 gk @

M Ru  feed § @ gel e @

T F0Y
GLEEI

(a) TE XVI 5 &

qEF T

TRT S

1 SHRAH

LIRS ICTE

T, Tl H

T e R

A s

H AEH I

a b c d

M i, i,

(@)

(3)

(4)

aferer I 1 aiferer 11 @ gARiG &T &

o T e ¥ ¥ @8 Rew @ w
R

aiferer 11
@) 179293

(b) ' (i) 1804

(c) (iii) 1774

(D (iv) 1789

i, iv, i

mi, v, 1, 1

oM, 4 - 1

et 1
(@) wiewy
(b) &
(¢) I A
@ W
feze
T S c
(1) iv, i,  iii,
@6 i i
() i, v, iii,
Wi # i

aferenr 11
@) . M BgF
Gi) ¥ FF
(iii) a9 Bfved

(iv) T Rafe
e @
d _

¥
iii %
iv o

P.T: 0.
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150.

151,

152.

Which of the following forest
communities is wrongly matched
with the place of their living ?

(1 §ﬁnthals — Jharkhand
(2) Oraon — Nagaland
(3) Gonds —  Chhattisgarh
(4) Korava —  Madras

®  Presidency

Which of the following statements

does not match the Nazi thinking ?

(1) Government should be dictatorial
and anybody opposing it should
be dealt with firmly.

(2) All the Jews living anywhere in
the world must be hated.

(3) Democracy

and interpational

~ peace should be ﬁfah{g-)fed.

(4) Germans are the best race in the
world and therefore, they must

rule the whole world.

Consider the following statements .

and identify the correct response
from the options given thereafter :
Statement 1 : Over half of the
world's total pastoralist population
lived in Africa.

Statement 2 Masai land was

divided in two parts — the British

Kenya and German Tanganiyike

(1) Statement 1 1is false and
statement 2 is true.
(2) Statement 1 is true and

statement 2 is false.

(3) Both statement 1 and statement 2
are true and statement 2 is the
correct explanation of statement 1.

(4) Both statement 1 and statement
2 are true but statement 2 is not

.the correct
statement 1.

Level-1) Exam. Nov. — 2015
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150. Fr=feiflgg & @ @F-91 99 @99 aH

@ % @ A g 7 3 7

(1) dY™ - G
(2 9Rg - AN
(3) i - BHETE
(4) BEr - "ErE gdEd

151 Frdfafee & @ de@ gwmE A

feEraRT A A9 787 @

(1) TR, daFgmE &Y S Ml =Ry
au S B N e By B oEd
Tl § U ST =Rl |

@ ghmr # fRl f 'MW @ ad
TefRAl A THEE FE AR

(3) STEE qdl Sfausig nfka @l STl
39 =IRT |

(1) 5 g § wdde T A E
gt G H g W AR
HET e |

152. 9 Ru T ot @ oA A @ AR

o Ru U e § ¥ @El e @
YA PN

gFTr - 1 faga &t el | ST =Erer
arErd) apbe o e 4t

FFEg - 2 TR qAM & A A
Reaforg ear - Bfewr @fm qa 5
S

(1) 574 1 T &, 9994 2 T B
(2) T 1 G 3, IFH 2 T &

(3)@#?&%&?3‘@%.611?@3{2-
g 1 @) HE e © |

(4) @ T WA B g 99 2
a1 @ W e W e



153.

154,

Consider the following events related
to the National Movement of India
and identify the correct chronological

response from the options given
thereafter :

(a) Chauri Chaura incident

(b) . Rowlatt Act

(c) No‘n Copperatién Movement
(d) Jallianwalla Bagh incident
(1) a,¢,b,d 2 b,dca
(38) d, e, b, a (4) c,a,d, b

Match the table I with table II and
select the correct response from the
options'given thereafter.

Table T  Table II
(Symbols) (Meanings)
(a) Broken Chains (i) Beginning
' of the new
era

(b) Crownof Oak (i) Being
leaves Freed

(c¢) Olive branch (iii) Heroism

around the

sword
(d) Rays of rising . (iv) Willingness
sun to make

peace
a b c d

) i, iii, i, iv

(2) i, iv, iii, i
3 iv, i, 1, il

(4) i, i, iv, i

i(Level-1) Exam. Nov. - 2015
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(c) STHEGN =N

(d) SRR A FTS

(1) a,¢,b,d (2 b,dca
@B) d, c b, a (4) ¢,a,d b

afven 1 # a1 3 gk &1
oM Ru m Reedt § ¥ g2l Rew @
T Hifona |

GUEEI arferest 1L

(Fe) (sre)
@ TaRE @ WFH
HTH

(b) Wb qq d  Gi) oG A
ORI

(¢) TEER U Gii) 9
afeg & @ -
foredt &

@ TREH v abaw
BT . B Gf

Q) i, i, i, iv
oo o B 3
@) iv, i, i, i

(4) i, i, iv, i

P.T.0.
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155.

156.

Consider the statement given below
and select the correct explanation

from the responses given thereafter :

Statement : In 1907-08 some 300
Vietnamese went to Japan to acquire

modern education because ;

(1) They wanted tg‘ get lucrative
b

jobs.

(2) To avoid unstable political
conditions in Vietnam.

(3) "To drive -out French from
Vietnam.

(4) To enjoy modern lifestyle.

Consider the following statement and
identify the incorrect response from
the options given thereafter :

Statement : Effects of the Great

Depression on the Indian economy -

were.

(1) India's export and import nearly
halved between 1928 and 1934.

(2) Wheat prices in India increased
50 percent between 1928-1934,

(8) India became an exporter of
precious metals, notably gold.,

(4) Landlords and middle class
salaried employees in cities found
themselves better off because of
falling prices.
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Frfifad a9 @ = 4 © X am
Ru T Reedt § ¥ @l e #1999
T -

FerT » 1907-08 T &I 300 famma=mdl

agfs e o FW $ e a9

U HJifF -

1) & afs ol aet M =
q | :
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157.

158.

159.

Which of the following options best
explains the sumptuary laws ?

(1) The laws that prohibited wearing
short skirts.

The laws that declared that silk
clothes could not be used by

(2)

peasants.

/T{:a laws that controlled the
‘behaviour of the “socially
inferior”.

The laws that prohibited the
socially superior class from
wearing cotton dresses.

@

4)

Consider the statement given below
and select the correct response from
the responses given thereafter :
Statement : Simon Commission was
opposed by all the political patties in
India because :
(1) It was not in favour of comple
(2) independence :
It proposed the communal award
%resisted economic reforms.

t consisted of all white members.

3)
(4)

Consider the following events related
to Print culture and identify the
correct chronological response from
the options given thereafter :

(a) Buddhist missionaries from
China introduced hand printing
technology into Japan around
T768-770 AD. )

Gutenberg perfected the system
of Olive Press.

(b)

(¢) Marco Polo brought wood block
printing technology to Italy.

(d) The earliest kind of print
technology - was developed in
China.

(1 b, e d a

(2) ,,d’ a ¢ b

s e d b

@b d a c
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160, Consider the Statement given below
and select the correct explanation

from the responses given thereafter.

Statement : Women workers in
Britain attacked the Spinning Jeﬁny

because :
(1) Factory owners ill-treated them.
(2) Wages were inappropriate.

(3) 1t reduced labour demand and
they feared they would be
deprived of their jobs.

(4) Working hours increased.

161. Consider the following statements
and identify the correct response
from the options given thereafter :

Statement I : The first Cricket Club
in India was started by the Sikhs.

Statement II : Mahatma Gandhi
condemned the Pentagular
tournament. -

(1) Statement I s false and
statement I is true.

(2) Statement I is true and
statement II is false:

Lo . -and statement II is the correct

| .

g (3) Both statement I and II are true
1

{

! explanation of statement L.

are true but statement II is mot
correct explanation of statement L.
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162. Consider the following statements
and identify the correct response
from the options given thereafter :
Statement I : The popplation of
London expanded due to
industrialization.

Statement II @ Well-off Londoners
" “supported the need to build houses
for poor.

(1) Statement I is false and
statement I is true
(2) Statement I is'. true ° and

statement 11 is false.

(3) Both statement [ and statement
II are true and statement II is
the correct explanation of
‘statement L.

(4) Both statement I and statement
II are true but statement II isnot
the correct explanation of
statement 1.

163. Which is not a natural ecosystem ?

- (1) Desert
(3) Forest

(2) Aquarium

(4) All of the above
164. Match the following :
T @
(b) Ox Bow lake .(ii) Seawater
(c) Stecks (iii) Desert

(d) Morains (iv) River
a b e d

‘(a) Mushroom : Glacier’

D4 #H i
- (2) i, i, i iv
(3) iii, 1iv, i, i

iv, i, i, i

@
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165. What is toucans ?
(1) Name of staple food
(2) Name of a bird
(3) Name of river

(4) Name ofa mountain peak

166. Choose the correct option of the
following in order of dmtanee from
the sun:

D “Earth, Mars, Jupiter, Saturn
(2) Mars, Jupiter, Saturn, Earth
(8) Jupiter, Mars, Earth, Saturn.
(4) Mars, Earth, Saturn, Jupiter

167. The speed of the earth movement at
the equator is:
(1) 1665 km/h
(2) 1680 km/h
(3) 1669 km/h
(4) 1660 km/h

168. Western Coast strip South of Goa is
known as :

(1) Malabar (2) Konkan
(3) Coromandal  (4) Syhadri

169. Choose the correct pair :

(a) Trade wind . (i) Horizontal
' - movement of
air
() Loo (i) Seasonal
wind
(c) Monsoon  (iil) Permanent winds
(d) Wind (iv) Local wind
a b c: d
i, = B iv
(2) iv, iii, ii, i_
. (8) i, iv, 1ii, i
i - (4 ii, i, iv, iid

i(Level-1) Exam. Nov.— 2015

(52)

165.

166.

167.

168.

169.

Toucans &7 & ?
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(1) 9=, ", gewid, 9
(2) e, gew, 9, g
(3) gy, W, g, a9
(4) v, geht, af, geeR

%ﬁgaﬁgqmimqtguhnﬁm

(1) 1665 it HferEer
(2) 1680 fl wierEeT
(3) 1669 i uferEe
(4) 1660 fodt wfeEer

qﬁaﬁmﬁﬁmﬁmqﬁﬂﬁ
Reg % | ST SR © 7

(1) FRTrER (2) BT
(3) FRATSH. (4) fred
& g AR

(@ @t () 0 AR

qa_ T

® i) Aeeft g
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(d) EGHY (iv) G EE

a b e s
(1) i, i, i iv
(2) iv, i, i, i
@) i, iv, i, i
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170. Which is the deepest lake of the

171.

172,

World among the following ?
(1) Victoria lake

(2) Superior lake

(3) Baikal lake

(4) Huron lake

Surface feature with, more than 700
meter height ig known as : '

(1) Plain (2) Mountain

(3) Plateau (4) Mound

In the given map Wild Sanctuary are
marked withabed.
Choose the correct order.

(a) Kanha Kalsi
(b) Chandraprabha
(¢) Atunagram

(d) Chandaka

(a) Chandraprabha
(b) Kanha Kalsi
(c) Chandaka

(d) Atunagrém

(a) Atunagram
(b) Chandaka,

(¢) Chandraprabha
(d) Kanha Kalsi
(a) Chandaka

(b) Chandraprabhg
(¢) Atunagram
(@ Kanha Kalsi

(1)

(2)

(3)

(4
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178. Choose the correet pair :

(A) Jammuna Pari (i) Sheep

(B) Jefarabadi (1) Cow

(C) Bhakherwal (iii) Buffalo

(D) Tharparkar (iv) Goat

A B C€C D

(1) iv i i 1

@) iw ii i il

(8) il iv 1 1

(4) i i v 1
174. Which is chief producer of silver in

the following ?

(1) Australia (2) "Mexico
(3 UsaA (4) France
175. Choose the correct pair :

(A) Veld (i) Venezucla

(B) Llanos (1) Asia

(Cy Compass  (iii) Africa

(D) Steppe. (iv) Brazil

A'B € D

(I} i 3 1@ v

() i W@ w 1

@) i i iv il

(4) i 1 ii iv

176. In the given map 'X' denote :

(1) Mount Isa

(2) Broken Hill

(3) Haimershley Hill
(4) Waieps Hill
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177. Match the following :

178.

179.

180.

181.

+ (1) Chandigarh (2) Lakshadeep

- the following Political Party ?

(55)

(A) Berinaag Lake () J&K

(B) Malataal Lake (ii) Tamil Nadu
(C) Pulkit Lake  (ii) Maharashtra
(D) Lonar Lake (iv) Uttrakhand

(Uttranchal)
A B C D
i B e e
@ i iv i i
(B) i i i iv
4 i v i 1ii
After bifurcation  which of the

following state, Telengana state come
into existence ?

(1) Jharkhand

(2) Andhra Pradesh

(3) Maharashtra

(4) Arunachal Pradesh

Name the union territory from the
following which has its own
Ass;mbly ?

(3) Pondicherry (4) Daman & Div |

The word 'Left' is used for wiu'ch of

(}) Bhartiya Janata Party
(2) Socialist Party

(3) /Commun.ist Party (M)
(4) Congress Party

By which constitutional amendment _
two words, 'SECULAR' &

'SOCIALIST" were added in the—

preamble of the consfftution ?
(1) 44th (2) 39th =
(8) 42nd (4) 52nd

wevel-1) Exam. Nov. - 2015
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@) T A @) e s
B) W T (i)

(C) TR W i) TR
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A B .E D
@i i i v
@ i iv i i
@ ii i i v
@i iv i i
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A (56)

182. Which of the following statement is 182. f= ¥ § HF-TN HAT gete !

corpett?

_ (1) Haryana, UP and Punjab have
bicameral Legislatures.

(2) UP, Bihar and Jammu &
Kashmir have bicameral
Legislatures.

3) Jammu & Kashmir, Raja'ébfhan
and Himachal Pradesh have
bicameral Legislatures.

(4) Bihar, Tamil Nadu & Kerala

have bicameral Legislatures.

Economic growth plus change means
(1) Sustainable development

(@) “Economic development

(3) TIncrease in national income

(4) 1ncrease in per capita income

Why did the government shift its

strategy from long term to short term

programmes to remove

unemployment ?

(1) Lack of funds

(2) Large scale corruption

(3) Luke warm response from the
state governments

(4) Long term programmes takes a
long time to implement

What do you mean by collateral ?

(1) It is the total sum of money with
a person

) It is things kept in the locker

3) It is guarantee given by the
borrower to the lender '

@) 1t is the security to a lender until
the loan is repaid
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186. Which of the following statement is 186. Fr1 ¥ 4 F7-01 T4 R =9R g
not true regarding the world trade % g ¥ g 8 R ?
organization ?
(1)'It allows free trade to all (1) g8 ¥ o & e sl amm
. countries without any trade SEUTH B I &I %l i’ﬂj‘?ﬁ“l
barriers. 3@ 2 .
. (2Tts  aim is  to liberalise (2) THH TRW IS AWK Gl
-Anternational trade. TS ST B
(3) It establishes rules regarding (3) & SFIUsTy . Tt
l international trade. Fam wnfa #=ar 2
(4)'W.T.O‘ rules have forced the (4) W.T.0. % 7%, IR Sy Ff
\ developing countries to remove eH & m Remd 239 & Rag
trade barriers. B B
187. Right to choose, Right to seek | 187. g & ofwn, afgRf fame @
redressal, Right to represent and iRy, il & e aur T
Right to be informed, are : q= & T, € -
(1) Fundamental rights . (1) A afEr
(2) Consumer rights (2) SUAF AR
(3) Fundamental duties (3) AiieF e
(4) Consumer movement ' (4) IUNET FEH :
188. A body is dropped from certain height 188. & #9H MR d IW H SN e
from a uniformly ascending balloon. =R 8§ UF g AR o ¥ oag @
The correct graph showing variation I H A B Ay UREde & a%
of velocity with time for body is : . 2N :
@ |/ (1) {
@) \ (2)- \
3 i 3) i ;
(4 T (€Y T » |
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189.

-(58)

A thin uniform metal rod of mass 'm'
and length 1’ standing vertically is
now allowed to fall due to its own
weight. The velocity with which its
mid-point will strike ground will be :

( 1 g—gl (2) -\’ ng

(3) +J3gl (4) 1’%33'

Two beakers P & Q are filled to the

brim with a water at.4°C. Beaker P

is heated while Q is_r:;cc;ied.', What is

expecped in these beakers now ?

(D %zzer will overflow in both
beakers

(2) Water level will go down in both
beakers

(3) Water will go down in P &
overflow in Q

(4) Water will go down in Q &
overflow in P

A person sees a jet plane flying from
east to west. When the plane is Just
above his head, the sound of plane
appears to reach him at 60° with
horizontal. If the velocity of sound is
v, then velocity of jet plane is :,

(1) 2v '-

J3

(2) ?V

@ %

Y
4) —
()2
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192.

193.

194.

If current through a resistance is
increased by 100% simultaneously
reducing resistance value to 25%, the
new power dissipated will be

(1) No change

(2) Increased by 100%

(3) Decreased by 400%

(4) Increased by 400%

A resistance wire of uniform cross
section is in the form of a ring. The
two diametrically opposite points are
connected through a source of emf via
an ammeter. A conducting wire is
now connected across AB, AB;, &
then A,B,, one by one, if ammeter
reads I, I, & I; respectively :
A’z

B,
.

o I
() L>L>L, @ L=L>I
3 L,=0,I,>I, (4 I,=01,<I,

Identify the devicevuaed as spherical

mirror or lens in the following cases

when the image‘formed is virtual &
erect in each case : -

A Object is placed between device
& its focus, image is enlarged &
behind it.

B Object placed between focus &
device image formed is'enlarged &
on the same side as that of object.

A B
(1) Convex lens Concave mirror
(2) Convex mirror Convex lens
(3) Ceneavemirror Convex lens
(4) Poncave mirror Concave lens .

Level-1) Exam. Nov. - 2015 .
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195. Magnetic field

A A A A A

» Electron

» Proton

\ F
A uniform magnetic sﬁeld exist in the
plane of paper pointing from bottom
to top while a proton & an electron
are moving from left to right as
: figure. The
experienced by them will be :

shown in i'orcé

(1) Outwards for both

(2) Tnward for electron, outward for
proton

(3) Inward for proton, outward for
electron

"(4) Inward for boﬂl

196. Most of the refraction takes place at

when light enter the eye.
(1) Pupil
(2) Iris
(8) Outer surface of corhea
il
(4) TCrystalline lens

197. In air the speed of sound is 340 m/s.

This means that in one second :
(1) Sound source moves 340 m
(2) Listener moves 340 m

(3) Air disturban;:e moves 340 m

(4) Air moves 340 m
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198. An aluminium sphere is dipped into

199.

water. If B; and By are the

buoyancies in water at 0°C and 40°C
respectively, then :

(1) B;<By
(2) B,>By
@) B;=By
(4) B; > or < By depending upon the

radius of the sphere

Three blocks of masses m,, m, & m,

are at temperatures 0,, 0, & 6,

respectively. Assuming all of same .

metal & there is no loss of heat to
surroundings find the equilibrium
temp (8) if all the three are brought

in contact
(c = sp heat of metal)

() gwmlelc+m292c+maeac

my +m, +m,

m,0, +m,0, +m,0,

2 6= -
my +my +mg
(3) 9;6_11-_6_218_3
3
@) o = by +m,0, +m,0,

3(my +m, +my)
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198.

199,

A

g

40°C

I B o A, 9

T T} B, W4 By HAA: 0°C
W &9 § Iea@san g,

q
@

(1) B;< By

(2 B,>B;?
3) B, ‘_‘Bn

(@ B, By ¥ #W A s, A B

B ot fasfk @ @
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200. A body of mass 2 kg is free to move

along x-axis. It is at rest at t = 0.
From t = 0 onwards it is subjected to
a time-dependent force F(t) in
«-direction. The variation of F with
time is as shown : _
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The change in momentum during
journey is (in N-s) :

(1) 4.50 2 17.50

(4) 14.06
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Answers to questions in answer sheetare to be piven
by darkening complete circle using Black/Blue ball point

pen as shown below :
O e ©® ©

The answer will be treated wrong, if it is marked, as
given below :

If you fill more than one circle it will be treated as a
wrong answer.:

. Rough work should be done only in the space provided
Lo

in the Test Booklet for the same.

_ The answers are lo be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

Out of the four allernatives for each question, only one
circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed. '

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for diserepancy in Test
Baoklet and Answer Sheet Serial No.), anotirer set of Test
Booklet will not be provided.

The candidates will write the carrect Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Egch'candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No _candida{e, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.

Since the time allotted to the three parts of this question-
paper is very limited, you should make the best use of it
by not spending too much time on any question.
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